I
I

L

M5 F E

THOFEELHE (REMR) FE(-7.0m) (& R) Q) BHRELE

Uil 75 B B

& B REE

17 B HMEREEXEHE
=1 B EILZEE
BEoMs IEE
BHEZES 18-23-23-007



RENRE SHSE EABBCABBE)RET SmIE R R TE

4 b R - WIRTE By H = B & %5 W =
EEIEE 62, 437, 341
REE(-7.5m) &HB) (2 62, 437, 341
EHT(EHITovHI) 60, 625, 211
TLF¥ v X FHTELE () 5,158, 572
EEL 28, 496
1= 4 08% 52.00 548 28, 496
m2
E73:0] 2,191, 664
2 SkmNIHAST (1) SD345 D13 TARFHHEMT 2, 440. 00 286 697, 840
kg
3 HEmMIET(2) SD345 D16 T RFHHAEMT 816. 00 279 227, 664
kg
4 SkERINTHASL (3) SD345 D19 I R¥H#AEMT 2.352.00 274 644, 448
kg
5 $kAINTHANL (4) SD345 D22 IRFHEEMT 2,032.00 274 556, 768
kg
6 Rk 144.00 91 13,104
kg
1 REGHEE S8400 @19 xL=1, 400mm 48.00 1,080 51, 840
S
B 986, 770
8 SH RIS HH S 202.00 4,885 986, 770
m2




MERNRE HHSFEA AR AR B (7 5mIE R METH

4 g R - KT & B B = B & £ HE

avoy—+ 1,822,738

9 avy)— TR 30N-12-20BB  W/C50%LATF 62. 00 29,399 1,822,738
m3

RE 128, 904

10 &x& TL¥r R T 6.4t 24.00 2,048 49,152
1@

11 #E%5 TLE ¥R T 6.4t 2400 3,323 79, 752
1@

TLE v R MTEE Q) 16, 110, 487

EEL 81,104

12 V=24 8% 148.00 548 81,104
m2

5311 7,910, 064

13 SkEAANTHASL (1) SD345 D13 I R¥H#AEMT 56. 00 286 16,016
kg

14 $k#AANTHAST (2) SD345 D16 TIRXAHEMT 11, 676. 00 279 3,257, 604
kg

15 gk 4R (3) SD345 D19 TR¥#AEMT 3, 360. 00 274 920, 640
kg

16 Sk T4ASL (4) SD345 D22 TARFHHEMT 436. 00 274 119, 464
kg

17 #8550 T#A5L (5) SD345 D25 IRFAEAEMT 11, 620. 00 274 3,183, 880
kg

18 #kFh N THASL (6) SD345 D29 I RF*HAEMNT 820. 00 272 223, 040
kg

19 f#kHi#laL 420.00 91 38,220
kg




BERNRE SHSEER BB BR) R 7.5m)(BR)QEBH T E

% R B - BIKTE B4 % =2 B Ol & i) [

20 REHMHE SS400 @22 xL=1, 750mm 84.00 1,800 151, 200
*

B 2,559, 740

21 SSBPAESIHES 524.00 4,885 2,559, 740
m2

Av7 )=t 5, 203, 623

22 32— MTE 30N-12-20BB  W/C50%LLTF 177.00 29,399 5,203, 623
m 3

& 355, 956

23 B TLFr X MM 10.3t 30. 00 3,643 109, 290
1&

24 ¥HEFSL TLF v X T 10.3t 42. 00 5 873 246, 666
1&

TLx v X FERIREME 39,356, 152

EET 369, 352

25 V=71 VTR 674. 00 548 369, 352
m2

KA 29, 829, 666

26 SKARANTI#ASL (1) SD345 D13 T RI:I#EEMNT 288. 00 289 83,232
kg

27 $kARINIT#ASI (2) SD345 D16 I RE:IH#EEMNT 6. 336. 00 282 1,786, 752
kg

28 #5ARINIT#ASI (3) SD345 D19 TR I#EfEMT 24, 432. 00 277 6. 767, 664
kg

29 #kARINTI#ASI (4) SD345 D22 T RI:IHEEMT 14. 250. 00 277 3,947, 250
kg




BEHNRE SRS 2 BB RS R )R BE(-7.5m) (2 B)( Q)RR BU4E T3

% [ RAE - BRI B BB B ® # wm =

30 T kN FEREAEL (1) SD345 D19x 1,450 I #VA&fHE - Ivh A"V T 552. 00 3,176 1,753, 152
*

31 TV RN FEEHEL (2) SD345 D19x 1,500 I #V4fHE - Ivh A"y T 1, 656. 00 3,266 5. 408, 496
*

32 TV RN FEEHEIL () SD345 D19x 1,530 I #VAflE - Ivh A" UM T 990. 00 3,316 3,282, 840
*

33 T RN FEEHEL 4 SD345 D19x 1,970 I #VAflE - IvM A" VM T 504. 00 3,996 2,013,984
x

34 TV RN FERHEIL (5) SD345 D22x 1,580 I FVAfHE - IvM AT UM T 1, 050. 00 4,216 4, 426. 800
x

35 R EXAHAEIL 684. 00 94 64, 296
ke

36 REBHMHE SS400 @22 xL=1, 600mm 144. 00 2.050 295200
*

FEFE AN 808, 800

37 FrErERAN 5853371225 674.00 1,200 808, 800
m2

B 2,113, 650

38 REAPHRILAS 198. 00 10, 675 2,113,650
m2

avoy—+ 6, 134, 580

39 oy ) — TR 40N-12-20BB  W/C50%LL T 197. 00 31,140 6,134, 580
m3

RE 100, 104

40 cE TLE¥v X MRRR 13.4t 24.00 4,171 100, 104
&

T 1,812,130




m3

RENRE SHSE EABBCABBE)RET SmIE R R TE
% L R - BTk B 2 B & % il

FERBEE - BE 1,812,130

HERA 472, 320

4 ERBRAHHYL RC-40 t=20cm 45.00 10, 496 472, 320
m3

Bl 34,195

42 BRI AR ST 7.00 4,885 34,195
m2

IvH)—F 551, 620

43 29— TR 18N-8-40BB  W/C65%LLTF 20. 00 27,581 551, 620
m3

HEEE 239, 520

44 2y —rERYEL 20.00 10,383 207, 660
m3

45 a2 ) — FESENRE EIER~BERIES 20. 00 1,593 31, 860
m3

aVH Y — L ROLSE 170, 000

46 avH ) — FrBRLSE 3 20. 00 8, 500 170, 000
m3

TEEE 312, 975

47 THEA 45.00 1,806 81,270
m3

48 +EVEEW EIEmR~THLsE 45.00 5,149 231, 705




RENRE SHSE EABBCABBE)RET SmIE R R TE

£ 5 R - MARTR B % = B & # B

TN E 31,500
49 TR0 E TR 45.00 700 31,500

m3
HEBEREE L 142,000
HERE 142,000
HERE 142,000
BiiTEIEE 142,000
BT ERE 142,000
50 HTEEE BRETMAT., T4 U REEIIRE 1.00 142, 000 142, 000

=




wiEk BHSEERFAEEMR)FECTSmE R OMMEETE

% g - AKSTiE Bifr B 2 B i & 8 W =
EEIEE 62, 437, 341
MEIEE 4,910,640 + 16, 304, 946 21,215, 586
HERERE GDH 142,000 + 4,283,201 + 485,439 4,910, 640
HBRBE (FEL) 142, 000
HBREE (R) 62,437,341 x 6.86% ((5.23% x1.00 +1.50% x 1.02) 4,283,201
BSRENER 62,235,841 x 0.78% 485, 439
RisEEER 67,347,981 x 24.21% ((22.18% +1.32%) x 1.03) 16, 304, 946
TERf 62,437,341 + 21,215, 586 83, 652, 927
—REEES 83,652,927 x 17.48% (17.48% x 1.00) — 8, 919 14,613,612
LR E 83,652,927 x 0.04% 33,461
THilts 83,652,927 + 14,613,612 + 33,461 98, 300, 000
HETEALE 98,300,000 x 10.00% 9, 830, 000
FEIZRE 98, 300,000 + 9, 830, 000 108, 130, 000




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&5 :1
B IL—T 1 VTR 100m2% Y
£ b g - BIRTE BT H = il %8 # " =
=24 T8
m2 100. 00 548. 00 54, 800
& Hi fEZ8EH : 100. 00m 2 548. 00 54, 800
&5 :2
2 SkEAM TR (1) SD345 D13 I RFI#EAEMT 1000k g Y
£ b g - BIRTE BT H = il %8 # " =
% (2 SD345 D13
k g 1,020. 00 206. 00 210,120
AT (LELTay s 8 yL—otkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHeH - 1,000.00k g 286. 00 286, 940
&5 :3
2 $kEAMITHASL (2) SD345 D16 I RFI#EAEMIT 1000k g Y
£ b g - BIRTE BT o = il %8 # " =
% (2 SD345 D16
k g 1,020. 00 199. 00 202, 980
AT (LE/LTay s 8 yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZERESN - 1,000.00k g 279.00 279, 800




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

Hz5:4
2 8kERMIT AL (3) SD345 D19 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D19
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) ChEffES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHEH - 1,000.00k g 274.00 274, 700
&5 :5
2 SkEAMITHASL (4) SD345 D22 IARFIEAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D22
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTOy S EE) yL—otkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHeH - 1,000.00k g 274. 00 274, 700
&S5 :6
L REkARHAL 1000k g4
2 b g - BIRTE BT o = B Ol %8 # " =
BEkE - m/N\—#HL HAHEIBMEKFH Y L— ik E
k g 1,000. 00 85.05 85, 050
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHeH - 1,000.00k g 91.00 91,520




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&5 .1
B REGMHE  SS400 ¢ 19xL=1, 400mn 1AL Y
£ b g - BIRTiE BAf = B %5 # & &
REAR - M/ \— SS400 19 x L=1, 400mm
ZN 1.00 1, 080. 00 1,080
& Hi 1E%HEN - 1. 00K 1, 080. 00 1,080
5.8
£ SRB AN 100m2 %Y
£ b g - BIRTiE BAf = B %5 # & &
SRR A ST AR S (R EE) s L—oikE
m2 100. 00 4, 368. 00 436, 800
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 0.80 64, 700. 00 51, 760 8H
& Hi 1E%HEH : 100.00m 2 4,885.00 488, 560
5.9
& a4y ) —4TE% 30N-12-20BB  W/C50%LLTF 10m3%HY
£ b g - BIRTiE BAf = B %5 # & &
LT4—3HRbarvy)—+F 30N-12-20BB  W/C50%LLT
m3 10.10 24, 500. 00 247, 450
avH ) — MTHR (FHREE) HL—oikE
m3 10. 00 3, 360. 00 33, 600
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 0.20 64, 700. 00 12,940 8H
& Hi 1E%HESH - 10.00m 3 29, 399. 00 293, 990




Rifiz -/ \v7r—o

&5 :10
£ B TLE v RMT 6.4t

DHSFE R BBCREMR)FET5mHR)OMMRELSE

1BHY (861E)

2 b g - BIRTE L= vd = B oO(f ) # " =
STFL—29L—r A ARER) GhE e I8 35tHR
B 1.00 89, 900. 00 89, 900 8H
LU
A 1.00 26, 150. 00 26, 150
LTEEXE
A 3.00 19, 740. 00 59,220
MR =LY
% 0.50 175, 270. 00 876
& B 1YEZHES - 86. 001& 2,048.00 176, 146
&5 11
L HEES TLF XM 6.4t 1B%HY (53@E)
2 b g - BIRTE L= vd = B oO(f ) # " =
STFL—29L—r A ARER) GhE s> I8 35tHR
B 1.00 89, 900. 00 89, 900 8H
LU
A 1.00 26, 150. 00 26, 150
LTEEXS
A 3.00 19, 740. 00 59, 220
M =LY
% 0.50 175, 270. 00 876
& B 1YEZRES - 53. 001@ 3,323.00 176, 146
&5 :12
B L—T 1 U TEEH 100m 24y
2 b g - BIRTE = v = BHO(f ) # " =
W=D 4 U TEER
m2 100. 00 548. 00 54, 800
& Hi 1EZ8EH : 100. 00m 2 548. 00 54, 800




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

ES .13
2 8kERM TR (1) SD345 D13 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D13
k g 1,020. 00 206. 00 210,120
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) ChEffES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHEH - 1,000.00k g 286. 00 286, 940
BE 14
2 SkEAMITHASL (2) SD345 D16 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D16
k g 1,020. 00 199. 00 202, 980
HHMIMEL(LELTOy S EE) yL—otkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZERESN - 1,000.00k g 279.00 279, 800
&S .15
2 $kEAM IR (3) SD345 D19 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT o = B Ol %8 # " =
% (2 SD345 D19
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) ChEffES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHeH - 1,000.00k g 274.00 274, 700




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

EES .16
2 SkEAMITHAST (4) SD345 D22 I ARFIEAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D22
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) ChEffES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHEH - 1,000.00k g 274.00 274, 700
BS 17
2 $kEMIT4ASL (5) SD345 D25 IARFIEAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D25
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTOy S EE) yL—otkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZHeH - 1,000.00k g 274.00 274, 700
&S .18
2 SkERMIT4AST (6) SD345 D29 I ARFIEAEMIT 1000k g Y
2 b g - BIRTE BT o = B Ol %8 # " =
% (2 SD345 D29
k g 1,020. 00 192.00 195, 840
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) ChEffES IR 16tH
B 0.10 64, 700. 00 6,470 8H
& Hi YEZERESN - 1,000.00k g 272.00 272, 660




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&5 :19
L mEkARHAL 1000k g4
£ 5 g - BIRTiE BAf = fili %5 i " =
REKAR - R/ \—HL ERAAEI8MEKH Y L— R E
k g ,000. 00 85.05 85, 050
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 0.10 64, 700. 00 6,470 8H
& &t fE%8EH : 1,000.00k g 91.00 91,520
&5:2
B REGMHE  SS400  ¢22xL=1, 750mm 1AL Y
£ 5 g - BIRTiE BAf = fili %5 i " =
mEKAR - m/N— SS400 @22 xL=1, 750mm
ZN 1.00 1, 800. 00 1,800
& Hi 1E%HEH - 1. 00K 1, 800. 00 1,800
&5 : 21
UL Y v s )N 100m 2%
£ 5 g - BIRTiE BAf = fili %5 i " =
SMBI R A48 ST R4 (A BRELE) g L—udkE
m2 100. 00 4, 368. 00 436, 800
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 0.80 64, 700. 00 51, 760 8H
& Hi YEZERES : 100.00m 2 4,885.00 488, 560
&5 :22
& a4y ) —$TE% 30N-12-20BB  W/C50%LLTF 10m3%HY
£ 5 L - BRTiE BAf = fili %5 i " =
LT4—3HRbarvy)—+F 30N-12-20BB  W/C50%LLT
m3 10.10 24, 500. 00 247, 450
avH ) — MTHR (FHREE) g L—udkE
m3 10. 00 3, 360. 00 33, 600
STFL—r9L—r A ARER) GhEmRiES JE) 16tH
B 0.20 64, 700. 00 12,940 8H
& Hi 1E%HESH - 10.00m 3 29, 399. 00 293, 990




Rifiz -/ \v7r—o

&5 .23
£ B TLE¥y R AT 10.3t

DHSFE R BBCREMR)FET5mHR)OMMRELSE

1BHY (798

2 b g - BIRTE L= vd = B ® # " =
STFL—29L—r A ARER) GhEfRfE > J&) 10tHR
B 1.00 201, 000. 00 201,000 8H
LU
A 1.00 26, 150. 00 26, 150
LTEEXE
A 3.00 19, 740. 00 59,220
MR =LY
% 0.50 286, 370. 00 1,431
& B YEZRES - 79. 001& 3,643.00 287, 801
E5:24
L S TLF e X M 10.3t 1BHY (49@)
2 b g - BIRTE L= vd = B ® # " =
STFL—29L—r A ARER) GhEfRfE > J&) 10tHR
B 1.00 201, 000. 00 201, 000 8H
LU
A 1.00 26, 150. 00 26, 150
LTEEXS
A 3.00 19, 740. 00 59, 220
M =LY
% 0.50 286, 370. 00 1,431
& B YEZRES - 49. 001& 5,873.00 287, 801
&5 :25
B L—T 1 U TEEH 100m 24y
2 b g - BIRTE = v = B ® 5 # " =
W=D 4 U TEER
m2 100. 00 548. 00 54, 800
& Hi 1EZ8EH : 100. 00m 2 548. 00 54, 800




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&EES .26
2 8kERM TR (1) SD345 D13 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D13
k g 1,020. 00 206. 00 210,120
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) GhE i > D) 25t R
B 0.10 89, 900. 00 8,990 8H
& Hi YEZHEH - 1,000.00k g 289. 00 289. 460
&5 .21
2 SkEAMITHASL (2) SD345 D16 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D16
k g 1,020. 00 199. 00 202, 980
HHMIMEL(LELTOy S EE) yL—otkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A ARER) GhE i D) 25t/
B 0.10 89, 900. 00 8,990 8H
& Hi YEZERESN - 1,000.00k g 282.00 282,320
EES .28
2 $kEAM IR (3) SD345 D19 I RFI#EAEMIT 1000k g Y
2 b g - BIRTE BT o = B Ol %8 # " =
% (2 SD345 D19
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) GhE i > D) 25t R
B 0.10 89, 900. 00 8,990 8H
& Hi YEZERESN - 1,000.00k g 277.00 271,220




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&5 :29
2 SkEAMITHAST (4) SD345 D22 I ARFIEAEMIT 1000k g Y
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D22
k g 1,020. 00 194.00 197, 880
HHMIMEL(LELTO Y EE) yL—rtkE
k g 1,000. 00 70. 35 70, 350
STFL—29L—r A RARER) GhE i > D) 25t R
B 0.10 89, 900. 00 8,990 8H
& Hi YEZHEH - 1,000.00k g 277.00 277, 220
&5 :30
L TV R/ REEAREST (1) SD345 D19x 1,450 Ik ¥4 - Ivh N UM 0T ALY (10004)
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D19 x 1,450 I# $48RE - IVM N UM 0
I Z 1,000. 00 3,110.00 3,110, 000
AT
A 2.00 25, 200. 00 50, 400
STFL—29L—r A ARER) GhE i D) 25t/
B 0.10 89, 900. 00 8,990 8H
M FHEEDY
% 15. 00 50, 400. 00 7,560
& B 1YEZHEH - 1,000. 004 3,176.00 3,176, 950
&5 : 31
L TV R/ REEARHEST (2) SD345 D19x 1,500 I $9#8fE - Ivb A UM 0T ALY (10004)
2 b g - BIRTE BT o = B Ol %8 # " =
% (2 SD345 D19x 1,500 If FY48tHg - v N VF 0
I Z 1,000. 00 3, 200. 00 3, 200, 000
AT
A 2.00 25, 200. 00 50, 400
STFL—29L—r A RARER) GhE i > D) 25t R
B 0.10 89, 900. 00 8,990 8H
M FHEEDY
% 15. 00 50, 400. 00 7,560
& B 1YEZHEH - 1,000. 004 3, 266. 00 3, 266, 950

10




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&5 .32
L TV R/ REEARHEST (3) SD345 D19x 1,530 Ik $9#8AE - Ivh A UM 0T ALY (10004)
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D19x 1,530 If Y48t - v N Vb 0
I Z 1,000. 00 3, 250.00 3, 250, 000
AT
A 2.00 25, 200. 00 50, 400
STFL—29L—r A RARER) GhE i > D) 25t R
B 0.10 89, 900. 00 8,990 8H
MR FHEEDY
% 15. 00 50, 400. 00 7,560
& B YEZHEH - 1,000. 004 3,316.00 3,316, 950
&5 .33
L TV R/ REEARHEST (4) SD345 D19x 1,970 Ik $9#8AE - Ivh N UM 0T ALY (10004)
2 b g - BIRTE BT H = B O %8 # " =
% (2 SD345 D19x 1,970 I# $V48RE - IVvM N UM 0
I Z 1,000. 00 3,930. 00 3, 930, 000
AT
A 2.00 25, 200. 00 50, 400
STFL—29L—r A ARER) GhE i D) 25t/
B 0.10 89, 900. 00 8,990 8H
M FHEEDY
% 15. 00 50, 400. 00 7,560
& B 1YEZHEH - 1,000. 004 3,996. 00 3,996, 950
534
L TV R/ REEARHEST (5) SD345 D22x 1,580 I ¥9#As - Ivh A U 0T ALY (10004)
2 b g - BIRTE BT o = B Ol %8 # " =
% (2 SD345 D22 x 1,580 I £V4&RE - IVM N UM IO
I Z 1,000. 00 4,150. 00 4,150, 000
AT
A 2.00 25, 200. 00 50, 400
STFL—29L—r A ARER) GhE i D) 25t/
B 0.10 89, 900. 00 8,990 8H
M FHEEDY
% 15.00 50, 400. 00 7,560
& B 1YEZHEH - 1,000. 004 4,216.00 4,216, 950

11




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

&5 :35
L mEkARHAL 1000k g4
£ b g - BIRTiE BAf = fili %8 # " =
REKAR - R/ \—HL ERAAEI8MEKH Y L— R E
k g ,000. 00 85.05 85, 050
STFL—r9L—r A ARER) GhEmiET J8) 25tH
B 0.10 89, 900. 00 8,990 8H
& Hi EZEEH :1,000.00k g 94. 00 94, 040
&5 : 36
B REGMHE  SS400  ¢22xL=1, 600mn 1AL Y
£ b g - BIRTiE BAf = fili %8 # " =
mEKAR - m/N— SS400 @22 xL=1, 600mm
ZN 1.00 2,050. 00 2,050
& Hi 1E%HEH - 1. 00K 2,050. 00 2,050
&5 :317
£ HEFERAR 4FEFEEL3371225% m2%Y (Im2)
£ b g - BIRTiE BAf = fili %8 # " =
HErERN 53371228
m2 1.00 1, 200. 00 1,200
& Hi 1E%HEH : 1.00m 2 1,200. 00 1,200
&5 :38
£ . ARBRAAT SN 100m2 %Y
£ b L - BRTiE BAf = fili %8 # " =
ARBB BTSN (EHR) HL—oikE
m2 100. 00 9,776.00 977, 600
STFL—r9L—r A ARER) GhEmiET J8) 25tH
B 1.00 89, 900. 00 89, 900 8H
& Hi YEZERES : 100.00m 2 10, 675. 00 1,067, 500
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&5 :39
a9 ) —+4TE% 40N-12-20BB  W/C50%LLTF 10m3HY
2 b g - BIRTE L= vd = B O ® # " =
LT4—3HRbarvy)—+F 40N-12-20BB  W/C50%LLT
m3 10.10 25, 800. 00 260, 580
a9 1) — MTER (FHREE) Ry TE
m3 10. 00 5,082.00 50, 820
& Hi 1E%HESH - 10.00m 3 31, 140. 00 311, 400
&5 : 40
& 8B TLXYXMEKREHR 134t 1BHY (691@)
2 b g - BIRTE L= vd = B O ® # " =
STFL—29L—r A AR ER) GhEfRfE > J&) 10tHR
B 1.00 201, 000. 00 201, 000 8H
U
A 1.00 26, 150. 00 26, 150
LTEEXS
A 3.00 19, 740. 00 59, 220
M =LY
% 0.50 286, 370. 00 1,431
& B 1YEZHES - 69. 001& 4,171.00 287, 801
&5 M
ZF5  EEBRASI L RC-40 t=20cm 10m3HY
2 b g - BIRTE = v = B Ol ® 5 # " =
HEEERA RC-40
m3 12.00 5,000. 00 60, 000
HIHRIEXS
A 0.30 217,090. 00 8,127
LTEEXE
A 1.80 19, 740. 00 35, 532
MR FHEEDY
% 3.00 43, 659. 00 1,309
& B YEZERESN - 10.00m 3 10, 496. 00 104, 968

13




Rifiz -/ \v7r—o

DHSFE R BBCREMR)FET5mHR)OMMRELSE

=)
£ SRB AN 100m2 %Y
2 b g - BIRTE L= vd = B oO(f ® W = " =
BB AT AR S (TR ELE) yL—rtkE
m2 100. 00 4, 368. 00 436, 800
STFL—29L—r A RARER) ChEffES IR 16tH
B 0.80 64, 700. 00 51, 760 8H
& Hi YEZERES : 100.00m 2 4,885.00 488, 560
&5 .43
& arH)—iTER 18N-8-40BB  W/C65%LLT 10m3%HY
2 b g - BIRTE L= vd = B oO(f ® W = " =
LT4—3HRbarvy)—+F 18N-12-40BB  W/C65%LL T
m3 10.10 22,700. 00 229,270
a2 1) — T (FHREE) yL—otkE
m3 10. 00 3, 360. 00 33, 600
STFL—29L—r A ARER) ChEf#ES IR 16tH
B 0.20 64, 700. 00 12,940 8H
& Hi YEZERESN - 10.00m 3 27,581.00 275, 810
ES .M
&Moo U—rRYEL 10m3Hy
2 b g - BIRTE = v = BHO(f ® 5 W = " =
E|EREEY BE BHET HHE
m3 10. 00 10, 383. 10 103, 831
& Hi YEZERESN - 10.00m 3 10, 383. 00 103, 831
&S .45
£ AV ) — FEHER EIBF~BERILER Tm3%Y
2 b g - BIRTE = v = BHO(f ® 5 W = " =
aVH ) — FEER EILER~BERILER
m3 1.00 1,593 1,593
& Hi 1E%HEH : 1.00m 3 1,593 1,593
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&S .46
Moy — FRANE B Tm3%Y
2 b g - BIRTE L= vd = B oO(f # " =
aYy ) — RN E 3
m3 1.00 8, 500 8, 500
& Hi 1E%HEH : 1.00m 3 8, 500 8, 500
&5 .47
£ TREA Tm3%Y
2 b g - BIRTE L= vd = B oO(f # " =
TRbEEA
m3 1.000 1, 806 1, 806
& Hi 1E%HEH : 1.00m 3 1, 806 1, 806
&= .48
& TREER BRI~ 1IROni5 Tm3%Y
2 b g - BIRTE = v = BHO(f # " =
TR EER &R~ 0ni5
m3 1.00 5,149 5,149
& Hi 1E%HEH : 1.00m 3 5,149 5,149
&5 .49
&% tRONE TR Tm3%Y
2 b g - BIRTE = v = BHO(f # " =
THnsE T
m3 1.00 700 700
& Hi 1E%HEH : 1.00m 3 700 700
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